Vol.31 No.1 2009

*1 *2
1. R,O
R,O
1
R,O
2.
2.1
R,O
R,O (N,O+0.658K,0)  0.51%
2 3.16g/cm® 3290cm?/g
1 W/C 30% 50% 60% 3
20 40
R,O
R,0O 60
R,O 90
R,O
28
& 0% 2% 4%
2 wi/C
R,0O 40mmx40mmx160mm
*1 ( )
*2 ( )

-661-



kg/m®)
0
€ [wee Water | Cement| AE NaOH 0
(%)
0 P-30-0-20
30 469 | 1621 [cCx 0.01 2 P-30-2-20
4 P-30-4-20
0 P-50-0-20
20 50 602 | 1227 - 2 P-50-2-20
4 P-50-4-20
0 P-60-0-20
60 645 | 1090 - 2 P-60-2-20
4 P-60-4-20
0 P-30-0-40
30 469 | 1621 |Cx 0.01 2 P-30-2-40
4 P-30-4-40
0 P-50-0-40
40 50 602 | 1227 - 2 P-50-2-40
4 P-50-4-40
0 P-60-0-40
60 645 | 1090 - 2 P-60-2-40
4 P-60-4-40
2
P \ NaOH
w/C
) Da -60-2-20
(Day) J— =
30 36 /
w/C
50 28 NaOH
60 16 1
3
% |40-60| 60-80]80-95|95-80| 80-60| 6040
hour 24 28 28 28 28 28
24 6 20
20 60%
21
28 0% 2% 4%
1/2
1
2.2
1/1000mm
0.2mm
3
—
3
40%—60% 60%—80% 80%—95%
40%
95%
2.3

2.5mm 5mm

45 3
2.4
2.5mm 5mm
30mg
105 3
95%
20 40
2.5 R0
R,O
5mm
X
R,O (N,0+0.658K,0)
3. 2
3.1 R0
2 W/C60%
4  WIC30% 50% 60%
R,O
R,O
3.2 R,0
3 20 40
W/C50% 60%
R,O
20 40
20 40
R,O
WwiC
4 20 40
W/C50% 60%

-662-

RO



0.03 500 ; 500 .
mL/g ——P-50-0-40 ——P-60-0-40
P-60-0-20 0.2571 —4—P-50-4-40 —4—P-60-4-40
0.025 P-60-2-20 0.2490 400 H{ —#—P-50-0-20 400+ —&—P-60-0-20 M
~ P-60-4-20 o“2557 - —&—P-50-4-20 = —A—P-60-4-20
g 002 ——p-60-0-20[| >~ ~
= V/ \ —m—p-60-2-20 | 300 300 asd
=015 —A—P-60-4-20 || 2’{
40% . 60%) W Lo (40% . 60%) M /,..w
001 e 200 [f” ? 200 f f/"
! ¥
W aﬁﬁﬁﬁ: ﬂﬁfﬁﬁﬁﬁ::
0.005 100 100 [f"
o M AN 0 (60%— 80%) | (80%— 95%) 0 (60%— 80%) | (80% — 95%)
0.001 001 0.1 1 10 100 0 24 52 0 24 52
W@ ) (hour) (hour)
2 W/C60% 3 20 40
1000 I 1000 I
4 R,0 —O—P-50-0-40 ——P-60-0-40
70 ﬁaﬁp-sg-g-gg —— P-60-4-40
(Na,0+0.658k,0) (1) | ~800 | 2T fﬁ 800 a0
P-30-0 0.50 7 f‘”w S
P-30-2 1.48
P-30-4 2.08 600 Z - 600
P-50-0 0.48 (95@; 80%) (95@; 80%)
P-50-2 1.10 - -
P-50-4 2.87 400 400
P-60-0 0.49 M
P-60-2 1.27
P-60-4 2.39 200 ‘- 200 — g ]
5 0 (80% — 60%) | (60% — 40%) od (80%— 60%) | (60% — 40%)
” 20 0 28 56 0 28 56
(hour) (hour)
NaOH 109 129 4 20 40
R,O 40
20
R,O
WwiC
5
SiOo
R,0O
5)
R,O
5 20
40
R,O

-663-




NaOHO%
6 W/C30%

0.05 O20 @40

I

NaOH2% NaOH4%

=
N 0.04
=

0.03

0.02 [
001 [—

0.00 NaOHO%
8 W/C30%

I

NaOH2% NaOH4%

005 | NaoH0

E NaOH2 M NaOH4 |——

0.04

mL/m2

0.03
0.02
0.01
0.00

10 20

R,O

4.1
6 7
W/C30% 60%

40

7 W/C60%

20 40

W/C30%
20

R,O

~664-

160
<140
=120
100
80
60 [
40
20
0 NaOHO% NaOH2% NaOH4%
7 W/C60%
0.05 020 A 40
=
S 0.04
=
0.03
0.02
0.01
0.00 NaOHO% NaOH2% NaOH4%
9 W/C60%
20x 109
2
4.2
8 9 20 40
W/C30% 60%
8
W/C30%
9 W/C60%
10 20 40 W/C60%
R0



100 100 100
/? //
80 / 80 / 80 /
€ 60 / 60 / 60 /
40 40 40
20 20 20
— P-30-0-20 — P-30-2-20 — P-30-4-20
/] — P-30-0-40 f/ — P-30-2-40 [/ — P-30-4-40
0o 20 40 60 80 100 0o 20 40 60 80 100 OO 20 40 60 80 100
% % %
(a) NaOHO% (b) NaOH2% (c) NaOH4%
0,
100 1 W({(S:SM 7 100
£ 60 60 60
40 40 40
20 20 20
— P-60-0-20 — P-60-2-20 — P-60-4-20
ﬁ — P-60-0-40 J — P-60-2-40 / — P-60-4-40
OO 20 40 60 ’ 80 100 oo 20 40 60 ’ 80 100 00 20 40 600/ 80 100
{] {] {]
(a) NaOHO% (b) NaOH2% (c) NaOH4%
12 W/C60%
0.30 020 F40 0.30
0.25 ] ] 0.25
0.20 0.20
0.15 0.15
0.10 0.10
0.05 0.05
000 “'NaoHO%  NaOH2%  NaOH4% NaOHO%  NaOH2%  NaOHA% 0 5 100
13 W/C30% 14 W/C60% 15
R,O
4.3
R,O 11 12 W/C30% 60%
@) (©) 0% 2% 4%
20 40
V100 [%] €
Vsat _Vdry
Vat 95%

-665-



100

|

Y

Q)
3

40/

il

0

— P-30-0-20 [
— P-30-2-20
— P-30-4-20

0 20 40 60 80 100

%

16 W/C30% NaOH
100
80 7
g60
40 /
20 — P-60-0-20 [
— P-60-2-20
j —— P-60-4-20
% 20 40 60 8 100
%
17 W/C60% NaOH
[mg] Ve [mg]
v [mg]
11 W/C30%
12
W/C60%
0 20% 40
20 60%
60%
40 20
13 14 20 40
W/C30%  60%
15 13 W/C30%
14 W/C60%

16 17 W/C30% 60%

W/C30%

17

W/C60%

R,O

1) RO

@

©)

4)
0 20%
60%

1) (308)
1997, 0
2) ,

1

\ol.30, No.1 pp.477-482, 2008
3) ,

1

\ol.26, No.1 pp.525-530, 2004

-666-



